DiViSion: .--_.~ Answer Key

Hop to the Quotient! \

Hoppy the frog hopped down this number line to solve 8 + 4: sr

Example: H/—!—\H—l/—\—!—!—!—!—l 84 :;

0 5 10

Directions: Hop down each number line to find the quotient (answer). Write
your answer on the blank space.

NNV NV NV NV NV N

16 17 18 19

1 2 3 4 6 7 8 9 11 12 13 14 21 22 23 24 26 27 28 29

0 20 25 30

1.21+3=_7_

10 15

11 12 13 14 16 17 18 19

10 15 20

21 22 23 24 26 27 28 29

25 30

|1234|6789|11121314|16171819|21222324|26272829|

0 5 10 15 20 25 30
3.25=-5= 5
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